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 LSE-05  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2022 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  Use separate answer sheets for Part I and Part II. 

Be brief and precise in your answers. Draw neat 

and labelled diagrams, wherever necessary.  

PART I 

Animal Physiology 

Note : Question no. 1 is compulsory. Attempt any 

four questions from questions no. 2 to 6.   

1. (a) Match the following items given in  

Column A with those of Column B : 6
2
1 =3 

 Column A Column B 

(i) Astrocytes  (a) Heat exchangers  

(ii) Ecdysone  (b) Corpus luteum  

(iii) Progesterone (c) Urea 

(iv) Glucagon  (d) Blood brain barrier 

(v) Ureotelism  (e) -cells of Islets of  

   Langerhans  

(vi) Flippers (f) Moulting hormone  

   in insects  
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(b) Fill in the blanks with appropriate words 

given in parentheses :  4
2
1 =2 

(i) Epinephrine and Norepinephrine are 

secreted by adrenal ________ (medulla / 

cortex).  

(ii) The gonads that produce eggs are 

________ (testes / ovary). 

(iii) The resting state of poikilotherms 

during winter is called ________ 

(hibernation / aestivation).  

(iv) The ratio of the volume of carbon 

dioxide evolved to that of the amount of 

oxygen consumed during oxidation is 

called ________ (respiratory quotient / 

ventilation ratio).  

2. With the help of a well-labelled diagram, 

describe the contraction of vertebrate skeletal 

muscle.  5 

3. Describe the clotting mechanism in humans.  5 

4. How is oxygen transported by blood ? Describe 

the various factors that affect the oxygen 

dissociation curve.  2+3=5 

5. Discuss the evolution of feeding strategies in 

animals according to the nature of food required. 5 
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6. Write short notes on any two of the  

following :  22
2
1 =5  

(a) Excitation of Mammalian Heart  

(b) Pheromones  

(c) Estrus Cycle  

(d) Tolerance to Freezing Temperatures  
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PART II 

Plant Physiology 

Note : Question no. 7 is compulsory. Attempt any 

four questions from questions no. 8 to 12. 

7. (a) Fill in the blanks in the following 

statements : 21=2 

(i) Along with gibberellins, the growth 

hormone ________ controls the ratio of 

male to female flowers in plants.  

(ii) The element cobalt (Co) is essential to 

________ N2 fixation.  

(b) Choose the correct alternative from the 

words given within the brackets : 2
2
1 =1 

(i) Chlorophyll ‘a’ appears  

 (blue-green / green) in colour.  

(ii) The ability of a plant cell to form a new 

plant is called (differentiation / 

totipotency).  

(c) Define any two of the following : 21=2 

(i) Stomatal index  

(ii) Endogenous rhythms  

(iii) Chemical potential  
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8. (a) Discuss various methods of transport of 

ions across the cell membranes.  3 

(b) Explain Münch pressure flow model for 

transport in phloem.  2 

9. (a) What are the properties of phytochrome ?  2 

(b) Define a short day plant, a long day plant 

and a day neutral plant, with one example of 

each.  3 

10. With the help of a suitable diagram, explain  

the events which take place in photosystem I 

and II.  5 

11. What are the functions of essential elements ? 

Mention the role and deficiency symptoms of 

potassium (K).  3+2=5 

12. Write notes on any two of the following :  22
2
1 =5 

(a) Plant Responses to Biological Stress  

(b) C4 Plants 

(c) Senescence  
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 Eb.Eg.B©.-05  

 {dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 

{Xgå~a,  2022 

Ord {dkmZ 
Eb.Eg.B©.-05 : eara-{H«$`m{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : ^mJ I Am¡a ^mJ II Ho$ {bE AbJ -AbJ CÎma-nwpñVH$mAm| H$m 
Cn`moJ H$s{OE & AmnHo$ CÎma g§{jßV VWm gwñnîQ> hmoZo Mm{hE & 
Ohm± Amdí`H$ hmo, dhm± ñdÀN> Ed§ Zm_m§{H$V AmaoI ~ZmBE & 

^mJ I 

àmUr eara-{H«$`m{dkmZ 
ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 6 _| go {H$Ýht  

Mma àíZm| Ho$ CÎma Xr{OE &   

1. (H$) H$m°b_ A _| Xr JB© {ZåZ{b{IV _Xm| H$m H$m°b_ B 

H$s _Xm| go {_bmZ H$s{OE :  6
2
1 =3 

 H$m°b_ A  H$m°b_ B 

(i) EñQ´>mogmBQ> (H$) D$î_m {d{Z`m_H$ 
(ii) EŠS>mBgmoZ (I) H$m°n©g bw{Q>`_ 
(iii) àmoOoñQ>oam°Z (J) `y[a`m 
(iv) ½byH¡$Jm°Z (K) aº$ _pñVîH$  
   AdamoY 
(v) `y[a`moQ>o{bñ_ (L>) b¢Jah¡Ýg Ûrn H$s  
   -H$mo{eH$mE± 
(vi) pâbng© (M) H$sQ>m| _| {Z_m}MZ  
   hm°_m}Z  
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(I) H$moð>H$ _| {XE JE eãXm| _| go Cn ẁº$ eãX H$s 

ghm`Vm go [aº$ ñWmZ ^[aE :  4
2
1 =2 

(i) Eo{nZo\«$sZ Am¡a Zm°aE{nZo\«$sZ E{S´>Zb ________ 

(_oSw>bm/H$m°Q>}Šg) go òm{dV hmoVo h¢ & 

(ii) AÊS>m| H$m CËnmXZ H$aZo dmbo JmoZS> 
________ (d¥fU/AÊS>me`) hmoVo h¢ & 

(iii) erVH$mb _| Ag_Vmnr àm{U`m| H$s {ZpîH«$` 
AdñWm H$mo _______ (hmB~aZoeZ/EopñQ>doeZ) 
H$hVo h¢ & 

(iv) D$î_m CËnmXZ (Am°ŠgrH$aU) Ho$ Xm¡amZ 
Am°ŠgrOZ InV H$s _mÌm Am¡a CËnÞ H$m~©Z 
S>mBAm°ŠgmBS> H$s _mÌm Ho$ AZwnmV H$mo 
________ (ídgZ ^mJ\$b/g§dmVZ AZwnmV) 
H$hVo h¢ & 

2. gwñnï> Zm_m§{H$V {MÌ H$s ghm`Vm go H$eoéH$ H$s H§$H$mb 

noer Ho$ g§Hw$MZ H$s {H«$`m{d{Y H$m dU©Z H$s{OE & 5 

3. _mZd _| ñH§$XZ {H«$`m{d{Y H$m dU©Z H$s{OE & 5 

4. aº$ _| Am°ŠgrOZ n[adhZ {H$g àH$ma hmoVm h¡ ? Am°ŠgrOZ 

{d`moOZ dH«$ H$mo à^m{dV H$aZo dmbo {d{^Þ H$maH$m| H$m 

{ddaU Xr{OE &  2+3=5 

5. ^moOZ Ho$ ñdê$n Ho$ AZwgma O§VwAm| _| AeZ {d{Y`m| Ho$ 

{dH$mg H$s MMm© H$s{OE &  5 
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6. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE :   22
2
1 =5 

(H$) ñVZr` öX` H$m CÎmoOZ  

(I) \o$amo_moZ  

(J) _X MH«$ 

(K) {h_H$mar Vmn Ho$ à{V ghZerbVm  
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^mJ II 

nmXn-H$m{ ©̀H$s {dkmZ 

ZmoQ> :  àíZ g§. 7 A{Zdm ©̀ h¡ & àíZ g§. 8 go 12 _| go {H$Ýht 

Mma àíZm| Ho$ CÎma Xr{OE &   

7. (H$) {ZåZ{b{IV H$WZm| _| [aº$ ñWmZm| H$s ny{V©  
H$s{OE :  21=2 

(i) {O~ao{bZ Ho$ gmW d¥{ÕXm`H$ hm°_m}Z ________ 

nm¡Ym| _| \y$bm| Ho$ Za-_mXm Ho$ AZwnmV H$mo 
{Z`§{ÌV H$aVr h¡ & 

(ii) VÎd H$mo~mëQ> (Co) ________ N2 

`m¡{JH$sH$aU Ho$ {bE A{Zdm`© h¡ &  

(I) H$moð>H$m| Ho$ ^rVa {XE JE eãXm| _| go ghr {dH$ën 

Mw{ZE : 2
2
1 =1 

(i) Šbmoamo{\$b ‘a’ (Zrbm-ham/hao) a§J H$m {XIVm 
h¡ &  

(ii) {H$gr nmXn H$mo{eH$m H$m EH$ ZE nmXn H$mo 
~Zm XoZo H$s j_Vm ({d^oXZ/nyU©eº$Vm) 
H$hbmVr h¡ &  

(J) {ZåZ{b{IV _| go {H$Ýht Xmo H$s n[a^mfm {b{IE : 21=2 

(i) a§Y«m§H$ 

(ii) A§VOm©V AmdV©Z  

(iii) amgm`{ZH$ {d^d 
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8. (H$) H$mo{eH$m {P{„`m| Ho$ nma Am`Zm| Ho$ n[adhZ Ho$ 
{d{^Þ VarH$m| H$s MMm© H$s{OE & 3 

(I) _mÝM Xm~ àdmh _m°S>b Ûmam nmofdmh _| n[adhZ H$s 
ì`m»`m H$s{OE &   2 

9. (H$) \$mBQ>moH«$mo_ Ho$ JwUY_© Š`m h¢ ? 2 

(I) Aën àXrßVH$mbr nm¡Yo, XrK© àXrßVH$mbr nm¡Yo Am¡a 
{Xdg {Zanoj nm¡Yo H$s n[a^mfm EH$-EH$ CXmhaU 
g{hV Xr{OE & 3 

10. àH$me-V§Ì I Am¡a àH$me-V§Ì II _| hmoZo dmbr A{^{H«$`mAm| 

H$s Cn`wº$ AmaoI H$s ghm`Vm go ì`m»`m H$s{OE &  5 

11. A{Zdm`© VÎdm| Ho$ àH$m`© Š`m h¢ ? nmoQ>¡{e`_ (K) H$s 

^y{_H$m Ed§ H$_r go hmoZo dmbo bjUm| H$m C„oI H$s{OE &  3+2=5 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na {Q>ßn{U`m± {b{IE :  22
2
1 =5 

(H$)  O¡dr` VZmd Ho$ à{V nm¡Ym| H$s AZw{H«$`m  

(I) C4 nmXn  

(J) OrU©Vm 


